Test specification:

e 0.030" pk-pk 10 to 37

e 35"secpk 37to350
e 20g pk 350 to 3000

X = xp-sin(w-t) For harmonic motion

v = WX cos(w-t)
2 .
a=-w -xp-s1n(w~t)

To calculate x.p in terms of v.p and a.p

=i
L

w
Xgegt() = [0.03in if 10Hz <f <37Hz

3.5in-s !

2-m-f

if 37Hz <f < 350Hz

20-
—28  if 350Hz < f < 3000Hz

(2-70-£)°

0 otherwise

To calculate v.p in terms of x.p and a.p

= a
vp—wxp \% =L
P

Viest(D) = [ (2-7:£)-0.03in if 10Hz <f <37Hz
35ins” | if 37Hz < f < 350Hz
20-g

—— if 350Hz < f < 3000Hz
2-m-f

0 otherwise

To calculate a.p in terms of x.p and v.p

= 2 =)
a, = WX, a, =wvp

agegt(f) = (2-7r~f)2-0.03in if 10Hz <f <37Hz

(2-7-£)-3.5in-s | if 37Hz < f < 350Hz
20-g if 350Hz < f < 3000Hz

0 otherwise



ftest := 1Hz,2Hz.. 3000Hz
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